
𝑦 = 4 − 𝑥ଶ

(𝑥, 0)

     𝐴 = 𝑙𝑤
     𝐴 = (2𝑥)(𝑦)
     𝐴 = 2𝑥(4 − 𝑥ଶ)
     𝐴 = 8𝑥 − 2𝑥ଷ

     𝐴ᇱ= 8 − 6𝑥ଶ

     0 = 8 − 6𝑥ଶ

6𝑥ଶ = 8

  𝑥ଶ =
4

3
⎯⎯

    𝑥 = ±
2

√3
⎯⎯ ⎯⎯⎯

𝑥 ≥ 0

0.5 1

(2,0)

𝑥 ≤ 2

0 ≥ 𝑥 ≥ 2

𝐴′

𝐴

𝐴ᇱ = 8 − 6𝑥ଶ

𝐴ᇱ = 8 − 6 ቆ
1

2
⎯⎯ቇ

ଶ

𝐴ᇱ = +𝑣𝑒

𝐴ᇱ = 8 − 6𝑥ଶ

𝐴ᇱ = 8 − 6(1)ଵ

𝐴ᇱ = −𝑣𝑒

+ −0

ቆ
2

√3
⎯⎯ ⎯⎯⎯,

32

3√3
⎯⎯ ⎯⎯⎯⎯ቇ

    (𝑀𝑎𝑥)

𝐴 = 2𝑥(2 + 𝑥)(2 − 𝑥)

𝑥

(𝑥, 4 − 𝑥ଶ)

Max rectangle area under 𝑦 = 4 − 𝑥ଶ above 𝑥 − 𝑎𝑥𝑖𝑠.

4 − 𝑥ଶ

2𝑥

2

√6
⎯⎯ ⎯⎯⎯= 0.81

  𝑦 = 4 − 𝑥ଶ

  0 = 4 − 𝑥ଶ

𝑥ଶ = 4
  𝑥 = ±2(−2,0)

𝑥 − 𝑖𝑛𝑡, 𝑦 = 0

(±2,0)

(
2

√3
⎯⎯ ⎯⎯⎯,

8

3
⎯⎯)

𝑦 = 4 − 𝑥ଶ

𝑦 = 4 − ቆ
2

√3
⎯⎯ ⎯⎯⎯ቇ

ଶ

𝑦 = 4 −
4

3
⎯⎯

𝑦 =
8

3
⎯⎯

Domain

𝐴 = 2𝑥(𝑦)

𝐴 = 2 ቆ
2

√3
⎯⎯ ⎯⎯⎯ቇ ቆ

8

3
⎯⎯ቇ

𝐴 =
32

3√3
⎯⎯ ⎯⎯⎯⎯

Max area under circle graph

(𝑥, ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

)

2𝑥

ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

𝑥

               𝐴 = 𝑙𝑤

               𝐴 = 2𝑥ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

              𝐴ᇱ = 2ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

−
2𝑥

√9 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯(2𝑥)

                0 = 2ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

−
4𝑥ଶ

√9 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯

2ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

=
4𝑥ଶ

√9 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯

      9 − 𝑥ଶ = 2𝑥
…
                𝑥 = 2.16 𝑢𝑛𝑖𝑡𝑠, −4.16

𝑥ଶ + 𝑦ଶ = 𝑟ଶ

𝑥ଶ + 𝑦ଶ = 3ଶ

𝑥ଶ + 𝑦ଶ = 9

             𝑦 = ±ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

Equation of Circle

𝐴 = 2𝑥ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

𝐴 = 2(2.16)ඥ9 − (2.16)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

𝐴 = 9 𝑢𝑛𝑖𝑡𝑠ଶ
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